NCL -Written test for the Post of Technician Electrician (Trainee) Cat.lll, in reference to E.N. 466/10-07-2020,SET A

Section A (Question No. 1 to 70)

In a Power Plant a reserve generating capacity which

IR Wi § U Rold SRS &HdT off TR H ©

is in operation but not in service, is known as: tR.ﬁf' dX ﬁf. eI &, P el Gﬂ?"; e f

A) Hot reserve B) Cold reserve é) %‘Fﬁ'r[ frard E) N

C) Spinning reserve D) Firm power ) )"

Which Lightening stroke is most dangerous: AI EWI\, g ﬁiﬁiﬁ;ﬂﬂ ST T Fa WA e
A)Direct stroke on tower top B)) S R ©® EI&T\[’J&[ T

B) Direct stroke on ground wire AT STy e

C) Direct stroke on line conductor g) dreEer T 31’3;2[?31?%

D)Indirect stroke on conductor )

Transmission efficiency increases as: SRIRR gﬁ&?m Se Eﬂ?ﬁ ° aﬁi ?; a2
A)Voltage and Power factor both increase Q) %lg\; iR ;:;; g)’_:s; %:_# ¥ ;{_% adl e
B) Voltage and Power factor both decrease C) die i gfg TRy TR aex HT AT 2
C) Voltage increase but power factor decrease D) YA Em:ﬂtRﬂ o 3 ?{@ S =
D) Voltage decrease but power factor increase ) Y

When Alternating Current passes through a conductor: Sd UATIdf YRT hede I T TSl Iqt g ar

A)It remains uniformly distributed throughout the
section of conductor

B) Portion of conductor near the surface carries more
current as compared to the core

C) Portion of conductor near the surface carries less
current as compared to the core

D)Entire current passes through the core of the
conductor

A) 98 HSIR & R Ts § IAH w7 I faaRkd gt 3
B) Td8 & UM hadex Bl U DR $I ga-1 H 31
PC I8 PIA g

C) a8 & UM HSIR T UFT DR DI o1 § HH
PC I PIAT g

D) Tl HRC HedeR B HR I ToRdl §

The effective resistance of a conductor will be the
same as “ohmic resistance”, when:

A) Current is in true sine wave form

B) Voltage is low C) Power factor is unity
D)Current is uniformly distributed in the conductor
cross section

TP Hedex BT YA UfaRiy "3nfis ufoRiy” &

A) BRC T T R FY H BRI

B) diceSl &H g C) UTaR Thaex UHH BT

D) Bc HedeR HIg YRH § I ¥ U ¥ faafed

grm

Skin effect depends on: IEEI{I T1g PR T
- A) HEFER P THR W
A) Size of the conductor .
B) Frequency of the current B) aXc HI 31T =
C) Resistivity of the conductor material Q) ST Terd 3t PATR
D) SWRiad g4I

D) All of the above

In overhead transmission lines the effect of the
capacitance can be neglected when the length of the

Javgs TMRE Rl § HUReH & UHId &l
Joferd fooar o1 Iopdr & afe dRd Pt e

line is less than:  _ABHEN

A) 200 km B) 160 km A) 200 Tt B) 160 fobet

C) 100 km D) 80 km C) 100 fopet D) 80 fabuit

The surge impedance for overhead line is taken as: SIS TS o forg ot s it ot wiel :

A) 10 - 20 3719 B) 50 - 60 3

A)10-20 ohms 5) 50 60 ohns ©) 100 - 200 3 D) 1000 - 2000 37H
C)100 — 200 ohms D)1000 — 2000 ohms

Pin insulators are normally used up to voltage of o Eﬁﬂﬂ HTHTT: TTHIT dlecsl db

about: I foar ST @:
A) 100 KV B) 66 KV A) 100 Fdt B) 66 Pl
C) 33KV D) 25KV C) 33 &al D) 25 &l
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NCL -Written test for the Post of Technician Electrician (Trainee) Cat.lll, in reference to E.N. 466/10-07-2020,SET A

10 | Corona usually occurs when the electrostatic stress BRI IHI: I9 8IdT § 91d Bhedex o STIU
in the air around the conductor succeeds: E?:IT | TE_ JRE e e:
A) 30 KV (maximum value)/cm A) 30 F (3ifewam T / Jeht
B) 22 KV (maximum value)/cm B) 22 Pa (S-IW ) / 6
C) 11 KV (rms value)/cm C) 11 Bl (SRTATH AF) / I
D) 6.6 KV (rms value)/cm D) 6.6 hd! (RTATY HH) / JHT
11 | When the power is to be transmitted over a distance | If¢ fasTelt 500 f g W TaTRd B ST €,
of 500 km, the transmission voltage should be in the ‘c'm&mr—r e ﬁ 35T H g1 BT
range of: A) 33 ddl - 66 Fq B) 66 ddl - 100 bl
A) 33KV -66 KV B) 66 KV — 100 KV C) 110 &dl - 150 Pa D)1soam°r-zzoév—qﬁ
C)I10 KV — 150 KV D) 150 KV — 220 KV
12 | Litz wires are used for intermediate frequencies, to 1%12\—:[ ARI BT IUTNT Hegaat \3{@%@ & forg foan
overcome: SIe, 31&[&?[ B &b fore:
A)Corona effect B)Skin effect ?ﬁﬁtﬂ YHIg B) Rep1 gurd
C)Radio interference D)AII of the above @) ‘\r%u‘r 3B D) SWRIad Tt
13 | In order to reduce skin effect at UHF: guauh IR &1 UHTd HH B & forg:
A) Conductors are painted A) HSFR T A §
B) Conductors are anodized B) hedex TATSTeyl fhU od &
C) Copper tubes with silver plating are used C) Tic! I¢! g8 dia DI eId B ITANT fohdT ST §
D) Copper rods with silver plating are used D) il I¢! g3 did B ©8 B SUAN a1 ST §
14 | A Relay used on long transmission lines is: el SRR Tl IR AT fhaT S arelt R &:
A) Mho’s Relay B) Reactance Relay A) 1%3[ e B) Ruady R
C)Impedance Relay D) No Relay is used C) 3re Rl D) Tt Rl &1 SUANT g1 Biell
15 | The function of steel wire in a ACSR conductor is: Q?ﬁ@x’rﬂ? Il H T P dR BT B T 82
A)To take care of surges  B)To prevent corona A) OISl BT A& HIAT B) BRI BT AT
C)To reduce inductance and hence improve Power C) $SFY Bl HH HIAT 3R TR ez & gUR
factor DT
D)To provide additional mechanical strength D) Sifafvad TifAe Wfad UM &A1
16 | Boosters are basically: TR AT gl
A) Inductors B) Capacitors A) ATASD B) HeTRA
C) Transformers D) Synchronous motors C) TR D) RisI9 Aicy
17 | Which of the following short circuit is the most frafafad o ¥ ®F I1 Y1 fthe Tay Wa-AIb 67
dangerous: A) TS ¢ @18 ¢ Aidhe B) € ¥Iic Tfhe
A)Line to line short circuit B)Dead short circuit ORSIEL K T3S Q]ﬁ ﬂ'%
C)Line to ground short circuit D) TS ¢ @18 3R TS S Wic Fldhe
D)Line to line and ground short circuit
18 | In a transmission line, if a booster transformer are to | Tdb CIGHRM dls H, Tf g TIRIBTER &1 START
be used, preferred location will be: fosar ST % ar SifmTf g R a1 B
A)At the receiving end B) At the sending end A) UTddh BR W B) Y0 R W
C) At the intermediate point D) Anywhere in the line Q) aeadf ﬁg W D) @e H &gl HY
19 | Insulators for high voltage applications are tested for: I dlees TN & ol Ugad g-geic ol fod I
A) Power frequency tests  B) Impulse tests BT geor T ST &
C)Both A and B D) None of the above | A) UTaR 3ATgfT URI&UT B) STATT TRI&T
C) SR A IR BEMl D) SWRIad # 4 $Is el
20 | The electrical breakdown strength of insulating faggq At g o faggdia faeR wfad afafad 4

materials depends on:

A) Nature of applied voltage

B) Imperfections in dielectric material
C) Pressure, temperature and humidity
D) All of the above

A) JUYdd WY R
B) WRTdegd uerdf #f arqufdr R
C) TSTd, ATHM 3R 3Tedl R
D) SWRIad gt
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NCL -Written test for the Post of Technician Electrician (Trainee) Cat.lll, in reference to E.N. 466/10-07-2020,SET A

21 | Which of the following gas has been used as ﬁq%@aﬁﬁmﬁﬁwmnﬁ?{gﬁawﬁﬁ
insulating medium in electric appliances? faggq e uerd & T H fovar S 82
A) Nitrogen B) Carbon dioxide A) FTCIoH B) FIa- SZ3HaTSS
C)Sulphur hexafluoride D) Freon C) o sIRIS D) 3l
22 | Electromechanical breakdown of solid insulating Eﬁ'ﬂ ﬁ?ﬁ?[ et gered @ ﬁﬂ'{lﬂqﬁ?ﬂﬁ fapR food
materials occurs due to: HRUT BT 87
A) Magnetic hum B) Vibrations A) Jab g gH B) U
C)Mechanical stresses produced by the electric field @) ﬁa‘gﬂ &7 gRT I4d ERES| PIRE
D)Electrical stresses produced by the voltage fluctuations | D) Qlecsl I@TIT T I RGIGI
23 | A 3300/250 V, 50 Hz single phase transformer is | &% 3300/250 dlcT, 50 3'5?{ RivTa iy E'IFCI'TITTT Ell
built on a core having an effective cross — sectional | f& 125 JH? YU HIY JaRHE HR W _R HH
area of 125 cm” and to turn on the low voltage | dlccol ATSST b T HRA & [T F11 T/ § | I
winding. Then the number of turns on the high | Giceol ATSIST WR Th DI TBAT HT 82
voltage winding is: A) 663 B) 924 C) 1848 D) 462
A)663 B) 924 C)1848 D) 462
24 | A transformer with 800 primary turns and 200 | T 100 V A.C @S ¥ 800 WYH® =k 3R 200
secondary turns is supplied from a 100 V A.C. | fgfla® 9% ol SRIBIER & G{FQﬁ & S B
supply. Calculate the Secondary Voltage: fedia® dieesl A Do
A)400 V B)25V 0250V  D)40V A)400 V B)25v.  (C)250V  D)40V
25 | A transformer with 800 primary turns and 200 | % 100 V A.C I@Ts ¥ 800 WYH® =k 3R 200
secondary turns is supplied from a 100 V A.C. | fgitae® a% ara TRIHIER &1 ST @1 ot &1 diee
supply. Calculate the Volts per turn: gfd ah J1d Difor:
A)0.25 B) 8 C)4 D) 0.125 A)0.25 B) 8 C)4 D) 0.125
26 | A 25 KVA transformer has a voltage ratio of | 25 KVA TRIBIHR H foRaH dieesT 30T 3300/400 V
3300/400 V. Calculate the Primary and Secondary %I U Gﬁvﬁ—cﬂwwmaﬂﬁﬁ
Currents: A) 16 A 132 A B) 758 A, 625 A
A)16 A, 132 A B) 7.58 A, 62.5 A C) 13.2 A, 160 A D)6.25A, 758 A
C)13.2 A, 160 A D)6.25 A,75.8 A
27 | Which of the following is minimized by laminating | FHfeRea & @ o gedr g afe TRwBER &1 &R
the core of a transformer: geford &1 oI &
A)Hysteresis loss B) Eddy Current loss A) T BT B) HaR YT g
C)Heat loss D) All of the above C) S gl D) SWRiad Tt
28 | Iron loss in transformer occurs in: EA'IHCI?IT& Tag B P8I gt %?
A)Core B) Winding A) DR B) AIRIS
C)Insulating Oil D)Main Body Q) Ay dd D) O dist
29 | Under no load condition, which of the following loss | ][ s =T H, Rgfeiad # ¥ o9 91 g9 vy
is negligible? 87
A)Hysteresis loss B)Eddy Current loss A) QYT B B) HoR YRT g™
C)Copper loss Q) diFd g™
D)AII losses have same magnitude D) quft g1 & o uRwmr §
30 | Copper loss in a transformer occurs in EWTFIT& o a1 Hl gidl %
A) Core B) Winding A) Ebﬁ? B)
C) Main Body D) Bushing D) SR
31 | For a transformer, the condition for maximum QT:F EN'CFITTT 4, fog g= ¥ Sy gafdr gri:
efficiency is: A) YT B = HaR URT BT
A) Hysteresis loss = Eddy Current loss B) ®R B = YT g™
B) Core loss = Hysteresis loss C) T4 31 = I 31

C) Copper loss = Iron loss
D) Total loss = % x Copper loss

D) ol Bl = % x d¥ &lY
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NCL -Written test for the Post of Technician Electrician (Trainee) Cat.lll, in reference to E.N. 466/10-07-2020,SET A

32 | Eddy Current losses in a transformer core can be Th Wﬁﬁ? PR H HIR YR g Bl [ TSR HH
reduced by: fopan 1 gara 87
A)Reducing the thickness of laminations A) UTdl &1 HIcTs &H B
B) Increasing the thickness of laminations B) Ul &1 HICTs | g
C) Increasing the air gap in the magnetic circuit C) gaP1a Aidhe ¥ @il o8 ¥ gig dx
D)Reducing the air gap in the magnetic circuit D) 9919 Tfdhe H WIcl oiTE &I HH IR
33 | In a transformer, the magnetic coupling between the | Th Wﬁ? T iy 3R fgdios afdbe & o9
Primary and Secondary Circuit can be increased by: | e®Ig THA H! {HT TSR TGTIT S Fabdll 82
A) Increasing the number of turns A) TP DI I H gfG B
B) Using soft material for windings B) ARfE™ & W A7 Uard &1 ST R
C) Using the magnetic core of low reluctance C) 5 fagadt & gad i HR BT STINT H
D) Using transformer oil of better quality D) S8R UGl & CIIBIER ad Bl ITIRT aR
34 | Which loss in a transformer varies significantly with EA'HEFIIF{ T I 1319 Al & a1 o= =0 Y
load? geadl g7
A)Hysteresis loss B) Eddy Current loss A) AT BT B) HaR YRT BT
C)Copper loss D) Core loss C) U B D) BR g
35 | The Power factor in a transformer: TR T TR hdex:
A) Is always unity B)Is always leading A) TERTTHHEIAIE  B) SURN ST &Il §
O)ls always lagging C) UM AT g 8
D)Depends on the power factor of the load D) WIS & UTeR thaex W AR a1 §
36 | At no load, the current taken by a transformer: ][ AR, T TR gRT forn 1 de:
A) Lags behind the applied voltage by 80° A) 3V diecs ¥ 80° FHH BIdT §
B) Lags behind the applied voltage by 50° B) 3FUgad dlecdl & 50° 4 §idl §
C) Leads the applied voltage by 50" C) 3FUgad dleesl ¥ 50° TSI Bidl §
D) Leads the applied voltage by 80° DERERES dlees ¥ 80° TS 81T §
37 | A short circuit test on a transformer gives: Th E;N'fb‘lﬁ? R, QT Glche T 37 2
A) Copper losses at full load A) E[Uf S W aY BN
B) Copper losses at half load B) 31¢f TS TR T BT
C) Iron losses at any load C) ot +ft e W dig g1
D) Sum of iron losses and copper losses D) AR R 3R a1 g &7 I
38 | A step up transformer increases: Il @R‘%‘Iﬂ? forey gig Har &7
A)Power B) Power factor A) JTd¥ B) IR
C)Voltage D) Frequency C) dieedl D) 3Mafl
39 | In a step down transformer: AR TIBTHR -
A)Secondary turns are less than Primary turns A) fediae a6 T I A FA A &
B)Secondary power is less than Primary power B) fgdiae mifad uufies efed Y HH BT &
C)Phase shift is always 180° C) B fRIve g 180° BT §
D)Secondary current is always more than Primary current D) fedia® Pic TUR UTYfh H3c Y 34 BT g
40 | In high frequency transformers: I AR E:WWIITT .
A) Carbon cores are used A) BT HR BT IGANT fomar Srar g
B) Wooden cores are used B) BTN HR BT IUTNT 5T SraT &
C) Ferrite cores are used C) HRI3C DR BT SUINT fhaT ST &
D) Aluminum cores are used D) TegHITH DR &1 IuaRT far Sirdn g
41 | Open circuit test on a transformer yields: Th EA'HEI'TIﬁT R, 3T gfhe gteror & e

A) Core losses

B) Copper losses

C) Sum of core and copper losses
D)Leakage of reactance

A) R

B) dI¥ &I

C) BR 3R 19 g BT TN
D) Ruaey &1 fvarg
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NCL -Written test for the Post of Technician Electrician (Trainee) Cat.lll, in reference to E.N. 466/10-07-2020,SET A

42 | The leakage flux in a transformer depends upon: TH ZBER d K varg g R Rk axar g2
A) Load current B)Load current and voltage | A) T8 ®Rc B) TS Hic 3R e
C)Load current, voltage and frequency C) dlS Be, deee SR 3Mgf
D) Load current, voltage, frequency and power factor D) &8 &e, diee, 3Mgfil 3R UreR haer
43 | Which of the following is not a routine test on fafafed & 3§ o a1 TawiR R Te Fafid
transformer? &7 51 57
A) Polarity test B)Radio interference test A) TIATRET TRI&r B) XFSTT ey URIEUT
C)Core insulation voltage test C) BR ET{EQF[ diecsl TRIgr
D)Impedance test D) 3UlS—4 Ui&mr
44 | In a transformer, if peak voltage is fed to primary: l'ea) E;N'qo‘\l'ﬁ? T, afq diep dieest WA &1 el
A) The iron loss will be less AT g ar:
B) The iron loss will be more A) g TR HHENT  B) A g Af® gl
C) The copper loss will be less C) AH BRI HHGRT D) dlaa 31 3HfdH gHTl
D) The windage loss will be more
45 | The function of transformer oil in a transformer is: TH CIBHER H, TRIGIHR dd &1 31 ST 8idl 6:
A) To provide insulation and cooling A) TR 3R fide Ua™ &
B) To provide protection against lightening B) foretett & gRET U DAl
C) To provide protection against short circuit Q) Tc Fibe I GR&T UG Hl
D) To lubricate the moving parts D) aferd Eﬁﬁ?ﬁ IEERIE
46 | Buchholz relay is used on: SRITeal el BT JUANT e W a1 Sl &
A) Air cooled transformers B) Oil cooled transformers | A) aTg_Q'ﬁ?lﬁ'l?[ g‘m@‘rﬁ? B) da-Rftaferd @'M'EFIITT
C)Welding transformers D)Furnace transformers Q AT T gHTER D) B TBTEHR
47 | In a distribution transformer, normally: T faarur E;Iﬂtlﬂﬂ? A g
A) Core losses are equal to copper losses A) BR B dTH I &b SRIeR gial §
B) Core losses are more than copper losses B) HR B ¥ 31 ¥ 3AfYH BT |
C) Core losses are less than copper losses O PRITAUTH A FHAGIA &
D) Core losses are half of the copper losses D) BR g1 dTH B T 3T 8idT &
48 | A Buchholz relay will operate in a transformer whenever | §RiTel Ral SRBIR H B Bl ofd FHaft of:
there is: A) T3 3fTaRe® Y W
A) Large internal fault B) W gfhe o) gqﬁ?ﬂ R
B) Saturation of magnetic circuit Q) IMUR TR D) IWRATY Ebﬁ_sf ot
C) Overload D) Any of the above
49 | A transformer can have zero voltage regulation at: Th ;i{-llbll-lr{ o ][ dlecl T &d gRT:
A) Zero power factor ~ B)Lagging power factor A) [ QIR e R B) QI UTaR hdkex TR
C)Leading power factor D)Unity power factor Q) AET YR Bdex WX D) UhH TR Hhaex R
50 | An autotransformer is used: TH (I RIhIHR BT ITART fahd SITd &:
A) When operator is not available A) SId TG IUAY gl Biell
B) When copper losses are to be reduced B) 1§ dTH BT & H1 gidl §
C) When higher efficiency is desired C) SId I G&fdT difesd gidll 8
D) When the transformation ratio is small D) 51§ URGd U & 8Id1 §
51 | If the transformer core is made of copper: afg E'IFCI'TIITT PR e Y &1 g,
A) Copper loss will be less A) T BT &1 g1
B) Eddy current loss will be more B) Yo YRT BTN 31 BT
C) Hysteresis loss will be more ) AT BT 31f¥s g
D) None of the above D) SRIad | ¥ Pl Tal
52 | The efficiency of the two identical transformers S AR H &l YA CIIBIR DI G&rdl fbde gRI

under load conditions can be determined by:
A)Back to back test B)Open circuit test
C)Short circuit test D)Any of the above

Reuifed ot 51 gt 8
A) S ¢ I URIE0T
C) TIT¢ Tfhe e

B) 3NU+ Ffdhe udieur
D) SWRIad & ¥ pig +t
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53 | If a transformer core is made of copper and coils are | Ifq U @'M'EI'TIITT PR AW Y &1 ¢ 3R Died Tid
made up of steel wire, then: IR A ST 5, <I;
A) Magnetizing current will be reduced A) TICTSRORT e &4 §) S
B) Copper loss in the winding will be more B) ATSf&T H ATH BT 31fde gI
C) Eddy current loss will be less C) HaR YRT g1 HH BT
D) All of the above D) IWRIad gt
54 | Which of the following loss in a transformer is zero | U SRIHTHR H fafaRad & ¥ &H a1 89 U;Uf HR
even at full load? R R B 87
A) Eddy current loss B)Hysteresis loss A) HaR YRT g™ B) Y ™
C)Core loss D)Friction loss C) PR ™ D) TY0T BT
55 | In Scott connections the main transformer has centre | ¥hic H-1aR H T CRIBTER | baid ¢U Bid &
tap on: A) Tl afé ™ B) fedias dEfE™m R
A) Primary windings B)Secondary windings | C) Urufiies 3iR fgdfiuss afem o wR
C)Both primary and secondary windings D) SRIad | ¥ Pl gl
D)None of the above
56 | A Tap changer is used on a transformer for: TRIHTHR T U JoR &1 SUTNT fuferg faa Sid g2
A)Adjustment in primary voltage A) Uil Eﬁ@\_ﬂ o HTIT!ﬂTrF-T & fore
B) Adjustment in secondary voltage B) @T‘ﬂ'ﬁlﬂi dlecsl § FHRISH & fag
C) Adjustment in both primary and secondary C) Urufiyes 3R fadias diees & TH™INH & faw
voltage D) UTaR thaex H THmeH & forg
D) Adjustment in power factor
57 | Over currents in a transformer affect: Th CIBIR B IS Hic 1 THIAd BT 87
A) Insulation life B)Temperature rise A) 37\@'521? NIEED B) dTgHTT ?{@
C)Mechanical stress D)AII of the above ) giffi® a1d D) SWRidd Tt
58 | A current transformer can be used with which of the | #¥c TIHIHR BT IuANT HFfeRad & ¥ fy
following instruments? JUHUN & 1Y T ST qahdl 87
A)Ammeter B)Wattmeter A) TR B) dICHICR
C)Watt hour meter D)Any of the above C) dTC TR HIe D) SRIad & ¥ Bl ot
59 | Which of the following is not a fitting on the ﬁ'&ﬁ*l’@ﬁ o F®a E'm'qv"lﬁT IR T I 161 87
transformer? B) BoRRdcx
A)Breather B)Conservator C) Tg’-‘lﬁ?:[ el D) HRICR
C)Buchholz relay D)Commutator
60 | The reactance of the transformer depends on: E'Iﬂ'qv‘l'ﬂk &I Ruady fog R ik ot &2
A)Size of core B) Size of tank A) DR BT 3HR B) % I HR
C)Leakage flux D)AII of the above W Ydlg D) IR g4t
61 | If the frequency of supply voltage is doubled, which EI‘% TS dlees &l SICI] ﬁ'ﬂ?ﬁ g ot g, df dH
loss will increase? 1 g1 dg ST ?
A)Eddy current loss B)Hysteresis loss ) ‘l-i'oR YRT B B) Qe BT
C)Copper loss D)None of the above D) SWId 8§ ¥ g o1
62 | In which of the following transformer, part of ﬁmﬁ ﬁ T ford TR &, UTufiie argfe &
primary winding also serves as the secondary | fe fgdla® T:|'I'5{'ﬁ=FT & wU H 1t Hrf Hrar 82
winding? A) ST TTABGER B) HC CIIHIHR
A)Step up transformer ~ B)Current transformer C) UIed TIHIFR D) ffeIcImER
C)Potential transformer ~ D)Autotransformer
63 | Which of the following frequencies has the longest | fAHferRad fog STICIR] o qay odlt 3@y gt g7
period: A) 18
A)l Hz B) 10 Hz B) 10 §<ul
C)1 KHz D)10 KHz ) 1 fpaeds
D) 10 fregw
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64 | Which device convert AC into DC: DI T JUBRI AC BT DC T GRafcd Bl g7
A)Rectifier B)Inverter A) YfFeHTR B) 3¢
C)Thyristor D)Dynamo C) YRR D) SAH!

65 | Which colour of wire shows phase wire generally in | &9 J 3 &1 IR HMD: TR & dRI § BY dR
house wiring? U fRfd T 87
A)Black B)Red C)Green D)Blue A) BT B) AT QI D) el

66 | Earth electrode resistance: sﬁﬂiﬁ_s’ UfeRIY:

A)is resistance of an earth electrode to earth A) gedt &3 ey # Y solagie HTUfRIy §
B)is resistance of an earth electrode to bus bar B) I IR & g 1 Y Ioidcs &l UfeRly §
C)is resistance of an earth electrode to conductor C) hedcx HIdcu H ‘-‘iéﬁﬂiﬁ%’ P UfcRIY %
D)is resistance of an earth electrode to neutral D) gcd P e o ﬂisﬂ'cla@,’ CARCIGREE

67 | Electrical potential of earth at any point is Tt ot foig R gt &1 fagygd &mdl ol URURS
conventionally taken as: U § 1 foram S g2
A)l B)0 C) o D) 0.1 A) 1 s B) 0 C) o D) 0.1

®8 | Grounding is: EINIE]
A)Connecﬁon of current carrying parts to ground A) P o S et m FIAIS H
B)Connection of non-current carryi B) P e m PSS § FHaR
ying parts to ground
C)Connection of any body to ground which is non W ﬂ-ﬁWﬁﬁ:{aﬂaﬂm@[W
current carrying D) 3T e 1 $erepaRE
D)Interconnection of earthing pits

69 | Which is not a type of earthing? frafeiea & @ st i &1 yeR T8l §
A)System earthing B)Equipment earthing A) Riew sifdfy B) IT&HRUT T
C)Static and lightening protection earthing @ﬁﬁ 3R foroTeft wRefor sifef
D)Balance earthing D) Tga siff

70 | Which of the following is/are type of electrodes? fafaRad o 9 &F A1 Saagis &1 UPR 82
A)Plate electrodes B)Pipe electrodes A) Wi gdacis B) UT3Y SaidclS
C)Rod electrodes D) All of the above C) IS Faidels D) SWRIdd It

Section B (Question No. 1 to 30)

1 | In an examination, out of 480 students 85% of the T WIeT |, 480 BET H T 85% defdba 3R 70%
girls and 70% of the boys passed. How many boys TSP 30l gul afe wlien & g 75 ufawra e
appeared in the examination if the total pass It Ul fha dso ulen & IufRyd gu?
percentage was 75%? A) 370 B)340 () 320 D) 360
A)370 B)340 C)320 D) 360

2 | By selling a hard disk for Rs 475, a person loses 5%. | 475 ¥U0 H gT8 S AP, U fad Bl 5% BT
To get a gain of 5 %, he should sell the hard disk for | JHIE I 21 5% BT A1H U & o 3 BT o
A)Rs 500 B) Rs 525 foa § S+t =nfgu
C) Rs 535 D) Rs 575 A) 500 % B)525% ()535% D)575%

3 | The average age of all the students of a class is 16 TS P& SHI P 3d 3 16 T ¢ | TSHI ! 3ad
years. The average age of boys is 21 years and that of 31 21 ¥ § 3R dsfpal ol 12 9§ g o per
girls is 12 years. If the number of girls in a class is 10, | FTefHal Bt TBAT 10 B, A TSP! ! TS J1d BT
find the number of boys. A) 12 B) 8
A)12 B) 8 Q) 11 D) 4
O) 11 D)4

4 | A Woman introduces a person as the son of the U Afgdl U Afad &l 3Tt Af &b ﬂ-ﬂ'sc BT §el Fardt

brother of her mother. How is the man related to the
women?

A)Son

B)Husband

C)Cousin

D)None of these

8| Al T e &1 Jaiey 1 82
A)gA

B) Ufd

C) TeR/HERT/HRRT/GHRT

D) 379 Y Ps ol
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NCL -Written test for the Post of Technician Electrician (Trainee) Cat.lll, in reference to E.N. 466/10-07-2020,SET A

5 | Which of the followings is not covered under operation | RgfaRag & 9 1 TRYA W= e & gfdyfera 78)
Greens mission? far T g?
A)Onion B)Potato C)Tomato  D)Ginger A) &S B) 31T C) THTER D) 3[c3b
6 | Which of the following is a wildlife sanctuary in FufeRad ¥ 9 o9 79 U & T 9ol
Madhya Pradesh? 3YIRUY g7
A) Keoni Wildlife Sanctuary A) F3N geig IHARTY
B) Barnawapara Wildlife Sanctuary B) SRATURT GGl SHLRIRTY
C) Bhimbandh Wildlife Sanctuary :
D) Rajgiri Wildlife Sanctuar < HiwSTYy asild s R
) Y D) ISR F=Tofid 3aRTg
7 | Covaxin is developed by: Prafe frad gRT fas R o i 82
A) Bharat Biotech B) Cipla A) HRd S1O1¢H B) e
C)Ranbaxy D) Novartis Q) IR D) Alatféy
8 | World Health Day is observed on: fay wWreg feay e TamT ST 82
A) 7" April B) 8™ April A) 7 30 B) 8 3(Ud
C) 9™ April D) 10™ April Q) 9 3 D) 10 30
9 | Punjab and Haryana High Court declared which river as | UTd 3fR gRamon 3= e 1 f&g ) &1 shfad
a living entity: 3hTs OIfvd fhar §:
A) Sukhna B)Amirit Sarovar A) & B) 3d WIR
C)Kanjli D)Karna C) Sofel! D) &l
10 | “Operation Namaste” is associated with: "HTRYE T g T dai=d %?
A) Indian Army B)Indian Navy A) YR T B) YRS AT
C)Indian Air Force D)Border Security Force C) YR ag 97 D) IHT TRET 9
11 | Which crop is sown on the largest area in India? YR H I 98 &3 R DI W B 918 Sl 82
A)Rice B) Wheat INEIES B) 71§
C) Sugarcane D) Maize Q) AT D) Hadhl
12 | For which of the following disciplines is Nobel Prize %ﬁaﬂ JRIPR FrafaRad | 3 foy fawg & fore fear i
awarded? ?
A)Physics and Chemistry ~ B)Physiology or Medicine | A) ¥ifdspt 3R TR B) fosforatarsit ar faferean
C)Literature, Peace and Economics D)All of the above | ¢y aifgey, ifd 8iR eifeRd D) SWRIad I+t
13 | Whose creations are Harshcharitra and KadamBari? Eﬂ?lﬁ_ai 3R HIEa fhaadt Q?FlTﬁ %‘ ?
A)Kalhan B) Panini A) HUl B) TTfOT
C) Bana Bhatta D) Patanjali Q) I Yg D) Udifer
14 | When the India launched Targeted Public Distribution YR = dférd graei—e [9aru yurel] o [E DI ?
System? A) 1995 B)1996  C)1997 D) 1998
A) 1995 B) 1996 C) 1997 D) 1998
15 | Panini was...... o o ...
A) a Greek philosopher A) T TAMT eI
B) an Indian astronomer and famous mathematician B) Ush HRATT WA= 3R UR¥g gy
C) a Sanskrit grammarian of Vedic times Q) 3P BT BT T T HATHIN
D) great poet of ancient times. D) Ui &Td & HEH Hid
16 | Which of the following is not a member of the European fufafRd I o= @lﬂf{ Y BT TG gl %?
Union? A) g B) fr1ds
A) Greece B)Finland C) A1 D) gRcS frey
C)Norway D)United Kingdom
17 | Which river is also called Ganga of South? g 7 &1 <o 6t 717 it et SiTaT §2
A) Godavari B)Krishna A) Meradt B) ST
C)Cauvery D)None of these C) BIA D) 399 q BIs el
18 | Which of the following newspapers was founded by | FufeiRad # ¥ fg THRIR UF &1 RITYAT HETEHT ieh =
Mahatma Gandhi in South Africa in 1903? 1903 H Sf&u7 3(thicpT | 1 ot 2
A) Indian Opinion B) Harijan A) 3fegq sifafaa B) BRwH
O)Indian Speaker D)India News ) sfega Wier D) gfsar ol
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19 | Which space agency sends 104 satellites in a single | 2017 ¥ fohgy 3fdiRef Toid 7 U UM H 104 IWIE U
mission in 20177 ?
A)ISRO B)NASA A) TR B) AT
C)Russian Agency D)China space Agency C) =41 ol D) AT sidfver Toidt
20 | Who among the following received the Bharat Ratna fAgferfad o ¥ foaa URd & Tl'glﬂ?f 4 9 Ugd URd
award before becoming the President of India? Id QDB R U fopar 2
A)R. Venkataraman B)Dr. Rajendra Prasad A) 3R, IHeTHT B) 1. JNig UG
C)Dr. Zakir Hussian D)W. Giri C) ST S g4 D) 3&g, It
21 | Khasi is the main language of which state? W b Iog B HTHT &7
A)Mizoram B)Nagaland  C) Meghalaya D) Tripura | A) ffoiRH B) I C) AU D) ﬁ'@'{
22 | Mount Etna is a famous volcano which is located TR3< e Ueh I Sararl ¢ off fRyd g ?
in? A) SSieT B) Sceil A
A)Argentina B)ltaly C) Hfdae! | D) fthcfidia |
C) Mexico D) Philippines
23 | Which is the largest coffee producing state of YR P Y4 F81 DIB! IATGH IAod DI 1 82
India? A) R B) AfAeHIg
A)Kerala B)Tamil Nadu C) ®leh D) 3RUIEd UG
C)Karnataka D)Arunachal Pradesh
24 | Where is the Tungabhadra sanctuary located? TTHET SHIRUY hgl fRUd g7
A)Madhya Pradesh ~ B)Uttar Pradesh A) I TSR B)ITR WGl
C)Karnataka D)West Bengal C) HHlcH D) Uf3Y 1
25 | Ram starts from his house and walks 4 km North, M U TR Y Ie L= R 4 fbdt ITR H, b 3
then 3 km West, then 8 km south. How distant he is | forei} ufgym, fthz 8 fpit gfémr feen & aar g1 9 3=
from his house? WA BN RE ?
A)6 km B)7km  C)5km D)8km |A)6fed By 7feHt ) 5 fohe! D) 8 foprit
26 | Which number is wrong in the given series? ARIES PICKL T I I AT 7Tad 87
1,9, 25,50, 81 1,9, 25, 50, 81
A)l B)25 ()50 D)81 A)1 B)25 ()50 D)81
27 | Pick out the number with the smallest value: FrafaRad O ¥ 9ad Bict 9= g -
A)007 B)0.80 (C)0.33 D) 002 A)007 B)0.80 ()0.33 D) 002
28 | If South-East becomes North, North-East becomes | 3R GEU-TRE IR & 91T & AR IWR-TR U13H
West and so on. What will West become? g1 SITaT § 1 UfeH o’ g 2
A)North-East B)North-West A) STR-Rd B) JTR-UI&H
C)South-East D)South-West C) lam-uRe D) Gfé&fur-ufgm
29 | “Sputnik V”is a: "WdHS V" R g7
A)Coronavirus Vaccine A) HRIFERRY
B)Geostationary Satellite B) SRl Jearge
C)Geosynchronous Satellite ) fSraRispg Jearse
D)Hantavirus Vaccine D) ECTarRY JRIA
30 | Who is known as “The Saint of Gutters™? "Tex & Gd" & ¥ H by ST STl 62
A)Baba Amte B)Mother Teresa A) STET TS B) HGR <Xdl
C)Anna Hazare D)None of these C) 3T R D) 399 ¥ pIg gl
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Technician Electrician (Trainee) Cat. Il

Section A Section B
Question |Correct |Question |Correct |Question |Correct
No. Answer |[No. Answer |No. Answer

1 A 36 A 1 C
2 C 37 A 2 B
3 A 38 C 3 B
4 B 39 A 4 C
5 D 40 C 5 D
6 D 41 A 6 A
7 D 42 A 7 A
8 C 43 B 8 A
9 C 44 A 9 A
10 A 45 A 10 A
11 D 46 B 11 A
12 B 47 C 12 D
13 C 48 A 13 C
14 A 49 C 14 C
15 D 50 D 15 C
16 C 51 B 16 C
17 B 52 A 17 C
18 C 53 B 18 A
19 C 54 D 19 A
20 D 55 C 20 C
21 C 56 B 21 C
22 C 57 D 22 B
23 B 58 D 23 C
24 B 59 D 24 C
25 D 60 C 25 C
26 B 61 A 26 C
27 B 62 D 27 C
28 A 63 A 28 C
29 C 64 A 29 A
30 B 65 B 30 B
31 C 66 A
32 A 67 B
33 C 68 A
34 C 69 D
35 D 70 D
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